Present Simple

+ ? -
Am | ? I am .. I am not ...
8 = Is he ? He is .. He is not ...
F x 9 . .
3 Q2 Is she ..? She is.. She isnot...
O - = . . .
v & oo | (W) s it It is .. It is not ...
2 é % Are we...? We  are. We arenot...
= T Are vyou...? You are You arenot...
Are they...? They are... . They arenot...
have | I have got I have not got
5 has he He has got He has not got
S 2 has she She has got She has notgot
% °§’ (W) has it got ..? It has got It has not got
< S have we We  have got We  have not got
= have you You have got You have not got
have they They have got They have not got
0 I I I
2 he He He
; she She She
3 (W) Can it play ... ? It can play... . It can not play ... .
2 we We We
£ you You You
© they They They
Do | I play .... I don't play ....
% Does he He plays .... He  doesn't play....
E E Does she She plays.... She doesn't play ....
g g (W) Does it play ...? It plays... . It doesn't play ... .
8 s Do we We  play... . We don'tplay....
2 Do vyou You play... . You don'tplay....
Do they They play... They don'tplay....




Past Simple

+ ?
was | .7 I was I was not...

8 = was he ..? He was He was not...
5 § § was she ...? She  was She was not...
O - = .

v & o | (W)was it ..? It was It was not...
S ‘E % were we...? We  were We  were not...
= T were you...? You were You were not...

were they...? They were They were not...
I I I

5 he He He
S 2 she She She
% < (W) had it got ...? It had got It had not got
< S we We We
= you You You

they They They

2 | ! |
2 he He He
: she She She
3 (W) Could it play ... - It could play ... . It could not play... .
2 we We We
£ you You You
© they They They

I I I

% he He He
E - she She She
g g (W) Did it play ...? It  played.... It didn't play ... .
8 S we We We
2 you You You

they They They







